
DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

CEK

1
  O

F
  3

 

11/1/2017 RMQP-12-H5

RMQP-12-H5

CUSTOMER RMQP-12-H5
CLASS SUB

PART NO.

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030")  - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010")  - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

PARTS LIST

NET WT.UNIT WT.LENGTHPART DESCRIPTIONPART NO.QTYITEM

636.31212.10 LOW PROFILE PLATFORM CORNERX-SV19631

206.4268.81 RING MOUNT WELDMENTX-LWRM32

103.338.618 1/4 inSMALL SUPPORT CROSS PLATEX-SP219123

80.756.73 WALKWAY SUPPORT BRACKETX-WWSB124

15.042.51 FLAT DISK CLAMP PLATE 4" CENTERS (GALV.)X-12759465

10.950.91 CLAMP (4" V-CLAMP) GALVANIZEDX-100064126

439.3836.61120 in2-3/8" x 120" (2" SCH. 40) GALAVANIZED PIPEP2120127

284.4094.80150 in3-1/2" X 150" (3" SCH 40) GALVANIZED PIPEP315038

60.5520.1863 in2-3/8" X 63"SCH 40 GALVANIZED PIPEP24839

3.590.4024 in5/8" x 24" THREADED ROD (HDG.)G58R-24910

3.590.4048 in5/8" x 48" THREADED ROD (HDG.)G58R-48910

4.270.362 3/4 in5/8'' x 2-3/4" HDG A325 HEX BOLTA582341211

0.410.03 5/8" HDG A325 FLATWASHERA58FW1212

0.780.03 5/8" HDG LOCKWASHERG58LW3013

3.900.13 5/8'' HDG A325 HEX NUTA58NUT3014

93.0031.00120 in12" WIDE GRIP STRUTGRS12-12315

29.820.83 1/2" X 3-5/8" X 6" X 3" U-BOLT (HDG.)X-UB13063616

15.000.63 1/2" X 2-1/2" X 4-1/2" X 2" U-BOLT (HDG.)X-UB12122417

3.240.274 in1/2'' x 4" HDG HEX BOLT GR5 FULL THREADG12041218

4.910.416 1/2 in1/2'' x 6-1/2" HDG HEX BOLT GR5 FULL THREADG120651219

4.910.033/32 in1/2" HDG USS FLATWASHERG12FW14420

2.000.011/8 in1/2" HDG LOCKWASHERG12LW14421

10.310.07 1/2'' HDG HEAVY 2H HEX NUTG12NUT14422

6.970.29 3/8" X 2-1/2" X 3-5/8" X 1-3/4" U-BOLT (HDG.)X-UB32122423

4.210.09 3/8" x 2" HDG HEX BOLT GR5G38024824

13.890.292 in3/8" SQUARE WASHER SQW384825

1.130.01 3/8" HDG USS FLATWASHERG38FW9626

0.640.01 3/8" HDG LOCKWASHERG38LW9627

3.250.03 3/8'' HDG HEAVY 2H HEX NUTG38NUT9628

40.3540.35 HALOHALO129

TOTAL WT. # 2136.59

2-3/8"



DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

CEK

2
  O

F
  3

 

11/1/2017 RMQP-12-H5

RMQP-12-H5

CUSTOMER RMQP-12-H5
CLASS SUB

PART NO.

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030")  - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010")  - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

150"

Y Y Y

48"
MAX.

12" - 45"

184 11/16"

72"
APPORX.

120"



DETAIL  A

DETAIL  B

DETAIL  C

DETAIL  D

DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

CEK

3
  O

F
  3

 

11/1/2017 RMQP-12-H5

RMQP-12-H5

CUSTOMER RMQP-12-H5
CLASS SUB

PART NO.

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030")  - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010")  - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

A

X2
 

X2
 

X2

B

X2
 

X2
 

X2

X2
 

X2
 

X2
C

X2
 

X2

D

7

8

9

15

5
6

6

4 19

20

21

22

18

20

21

22

23

26

27

28

24

25

26

27

28

3

16

20

21

22

17

20

21

22

11

12

13

14

10

13

14

2

1

29


